
ZICO®

1045PM11
Optional Pull Release for Quic-Lock Mechanical Bracket 
Model QLM-U-OR
Parts and Instruction Manual

The optional pull release for the Quic-Lock allows the 
release to be mounted on either side of the seat and at any 
height.

Model QLM-U-OR is made for the Quic-Lock SCBA 
bracket.  For additional models or other combinations 
please contact us at 800-711-FIRE.

ITEM NO. PART NO. DESCRIPTION QTY.
1 1045-321-101 Release Cable Assembly (60-3/4") 1
2 1027-105-131 Yellow Tubing (10") 1
3 1010-175-131 Barbed Fitting 1
4 1027-105-135 Pull Release Bracket, Upper 1
5 1027-105-125 Pull Release Bracket, Release End 1
6 1027-105-129 Conduit With Crimped Fitting 1
7 9025-172006 Screw, 10-32 Hex Wsh Hd, Thd FRMG ZPS 2
8 1027-105-137 Push Nut (For 6MM Rod) 1
9 9013-252000 Nut, 10-32 Nylon Lock Nut 1
10 9020-101305 #6 x 5/16 SS Drive Screw 1
11 1045-320-169 Pull Release Knob 1
12 1045-320-185 Stop Sleeve 1
13 9010-391603 Set Screw, #8-32 x 3/16 Flat Point 1
14 1045-320-135 Bracket Release 1
15 9015-102512 Screw, 1/4-20 x 3/4 HH ZPS GR5 2
16 9114-112500 Plainwasher, 1/4 OD SS 2
17 9082-001209 Hairpin Cotter 1
18 9024-111900 Plainwasher #10 1
19 9080-001808 Clevis Pin, 3/16-1/2" 1
20 9010-502010 Screw, 10-32 x 5/8 Button Sockcap 1



QLM-U-OR Installation

Note:  Numbers in parentheses refer to part number.

1.	 Before installing the QLM-U-OR, please confirm the QUIC-LOCK SCBA Bracket had been properly
	 installed and that seat, SCBA and bracket are adjusted to your desired fit.

2.	 If you are upgrading a QLM-U, you must first remove the existing release assembly and cable.  This can be
	 done by removing the two 1/4-20 x 3/4 Hex Head Screws attaching the release assembly to the Elbow 
	 Mount bracket, then detaching the release cable from the cam rod by removing the cotter and clevis pins.
	 If not, skip to Step 3.

3.	 Attach the new Upper Pull Release Bracket, with conduit and pre-assembled release cable attached, to same
	 holes in the Elbow Mount Bracket.

4.	 Attach the Pull Release Bracket (4), with Yellow Tubing (2) and Release Cable (1) to desired position on 
	 the seat frame.  Drill two holes with a #19 drill (.166).  Use two 10-32 x 3/8" threaded forming screws to
	 attach the bracket to the seat frame.  Note:  A thicker seat frame may require a #18 drill bit (.169).  
	 Carefully run the cable and conduit around the seat and bracket without causing kinks in the cable or
	 interference with the bracket's function.

Page 2



Ziamatic Corp.
10 West College Avenue, P.O. Box 337, Yardley, PA 19067-0587  •  (215) 493-3618  •  FAX: (215) 493-1401

*ZICO is a registered trademark for fire, safety and marine products made by Ziamatic Corp. Copyright Ziamatic Corp. 6-12

www.ziamatic.com
TOLL FREE:    800-711-3473

Page 3

5.	 Unlock the SCBA bracket for easy access to cam link assembly.  Attach the cable to the cam using the
	 3/16 x 1/2" Clevis Pin (19), #10 washer (18), and the Hairpin Cotter (17).

Potential Release Mounting Locations

6.	 Confirm that the release is functioning properly to finalize install.


